Filomat 38:24 (2024), 8653–8661 https://doi.org/10.2298/FIL2424653K



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# Multi-Stirling numbers of the second kind

## Taekyun Kim<sup>a</sup>, Dae San Kim<sup>b</sup>, Hye Kyung Kim<sup>c</sup>

<sup>a</sup>Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea <sup>b</sup>Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea <sup>c</sup>Department of Mathematics Education, Daegu Catholic University, Gyeongsan 38430, Republic of Korea

**Abstract.** The multi-Stirling numbers of the second kind, the unsigned multi-Stirling numbers of the first kind, the multi-Lah numbers and the multi-Bernoulli numbers are all defined with the help of the multiple logarithm, and generalize respectively the Stirling numbers of the second kind, the unsigned Stirling numbers of the first kind, the unsigned Lah numbers and the higher-order Bernoulli numbers. The aim of this paper is to introduce the multi-Stirling numbers of the second kind and to find several identities involving those four numbers defined by means of the multiple logarithm and some other special numbers.

## 1. Introduction

The Stirling number of the second kind  $\binom{n}{r}$  counts the number of ways to partition a set with *n* elements into *r* non-empty subsets. These numbers are generalized to the multi-Stirling numbers of the second kind  $\binom{n}{k_1, k_2, ..., k_r}$  (see (18)) which reduce to the Stirling numbers of the second kind for  $(k_1, k_2, ..., k_r) = (1, 1, ..., 1)$ . Indeed,  $\binom{n}{1, 1, ..., 1} = \binom{n}{r}$ .

On the other hand, the unsigned Stirling number of the first kind  $\binom{n}{r}$  enumerates the number of permutations of a set with *n* elements which are products of *r* disjoint cycles. These numbers are generalized to the unsigned multi-Stirling numbers of the first kind  $\binom{n}{k_1,k_2,...,k_r}$  (see (28)) which become the unsigned Stirling numbers of the first kind for  $(k_1,k_2,...,k_r) = (1,1,...,1)$ . Thus,  $\binom{n}{1,1,...,1} = \binom{n}{r}$ . The unsigned Lah numbers L(n,k) counts the number of ways of a set of *n* elements can be partitioned by the number of the number of

The unsigned Lah numbers L(n,k) counts the number of ways of a set of *n* elements can be partitioned into *k* nonempty linearly ordered subsets. These numbers are generalized to the multi-Lah numbers  $L^{(k_1,k_2,...,k_r)}(n,r)$  (see (8)) which boil down to the unsigned Lah numbers for  $(k_1,k_2,...,k_r) = (1,1,...,1)$ . Indeed,  $L^{(1,1,...,1)}(n,r) = L(n,r)$ .

In addition, the multi-Bernoulli numbers  $B_n^{(k_1,k_2,...,k_r)}$  (see (7)) generalize the Bernoulli numbers of order r. In fact, we see that  $B_n^{(1,1,...,1)} = \frac{1}{r!}(-1)^n B_n^{(r)}$ .

The common feature of those four numbers is that they are all defined with the help of the multiple logarithm  $\text{Li}_{k_1,k_2,...,k_r}(z)$  (see (4)), which reduce to the poly-logarithm  $\text{Li}_{k_1}(z)$ , for r = 1.

The aim of this paper is to introduce the multi-Stirling numbers of the second kind and to derive several identities involving those four numbers defined by means of the multiple logarithm and some other

<sup>2020</sup> Mathematics Subject Classification. 11B68; 11B73; 11B83

*Keywords*. multi-Stirling numbers of the second kind; unsigned multi-Stirling numbers of the first kind; multi-Lah numbers; multi-Bernoulli numbers

Received: 08 March 2023; Accepted: 31 May 2024

Communicated by Hemen Dutta

Email addresses: tkkim@kw.ac.kr (Taekyun Kim), dskim@sogang.ac.kr (Dae San Kim), hkkim@cu.ac.kr (Hye Kyung Kim)

numbers. In more detail, in Theorem 3 we derive an identity involving the multi-Bernoulli numbers, the Stirling numbers of the second kind, Bell polynomials and the multi-Stirling numbers of the second kind. In Theorem 4, we express the multi-Stirling number of the second kind in terms of the unsigned multi-Stirling numbers of the first kind. We find in Theorem 5 an identity involving the Stirling numbers of the second kind, the multi-Lah numbers, the multi-Stirling numbers of the second kind and the Fubini polynomials of order *r*. We deduce in Theorem 6 an identity involving the multi-Stirling numbers of the second kind, the signed Stirling numbers of the first kind and the multi-Lah numbers. Finally, in Theorem 7 we show an identity involving the multi-Stirling numbers of the first kind, the Stirling numbers of the second kind and the multi-Stirling numbers of the first kind, the signed Stirling numbers of the second kind and the multi-Stirling numbers of the second kind, the signed Stirling numbers of the second kind and the multi-Lah numbers. Finally, in Theorem 7 we show an identity involving the multi-Stirling numbers of the first kind, the signed Stirling numbers of the second kind and the multi-Bernoulli numbers. For the rest of this section, we recall the necessary facts that will be needed throughout this paper.

We recall that the falling factorial sequence is given by

$$(x)_0 = 1, \quad (x)_n = x(x-1)\cdots(x-n+1), \quad (n \ge 1), \quad (\text{see} [1-5,7-16,18,19]).$$
 (1)

It is well known that the Stirling numbers of the second kind are defined by

$$x^{n} = \sum_{k=0}^{n} {n \\ k}(x)_{k}, \quad (n \ge 0), \quad (\text{see [5]}).$$
(2)

From (2), we note that the generating function of the Stirling numbers of the second kind is given by

$$\frac{1}{k!}(e^t - 1)^k = \sum_{n=k}^{\infty} {n \\ k} \frac{t^n}{n!}, \quad (k \ge 0), \quad (\text{see [18]}).$$
(3)

For integers  $k_i$  ( $1 \le i \le r$ ), the multiple logarithm (of index ( $k_1, k_2, \dots, k_r$ )) is given by

$$\operatorname{Li}_{k_1,k_2,\cdots,k_r}(t) = \sum_{0 < m_1 < \cdots < m_r} \frac{t^{m_r}}{m_1^{k_1} m_2^{k_2} \cdots m_r^{k_r}}, \quad (\text{see } [9, 11]).$$
(4)

If r = 1,  $\operatorname{Li}_{k_1}(t) = \sum_{m=1}^{\infty} \frac{t^m}{m^{k_1}}$  is the polylogarithm. By (4), we easily get

$$\frac{d}{dt}\operatorname{Li}_{k_1,\cdots,k_r}(t) = \frac{1}{t}\operatorname{Li}_{k_1,k_2,\cdots,k_r-1}(t), \quad (\text{see } [10, 11, 16]).$$
(5)

From (5), we have

$$\frac{d}{dt} \operatorname{Li}_{k_{1}, \cdots, k_{r-1}, 1}(t) = \frac{1}{t} \sum_{0 < m_{1} < \cdots < m_{r-1}} \frac{1}{m_{1}^{k_{1}} \cdots m_{r-1}^{k_{r-1}}} \sum_{m_{r} = m_{r-1} + 1}^{\infty} t^{m_{r}} = \frac{1}{1 - t} \operatorname{Li}_{k_{1}, k_{2}, \cdots, k_{r-1}}(t).$$
(6)

In 2000, Kim-Kim introduced the multi-Bernoulli numbers of index  $(k_1, k_2, ..., k_r)$  which are defined by

$$\frac{1}{(1-e^{-t})^r} \operatorname{Li}_{k_1,\cdots,k_r}(1-e^{-t}) = \sum_{n=0}^{\infty} B_n^{(k_1,k_2,\cdots,k_r)} \frac{t^n}{n!}, \quad (\text{see [10]}).$$
(7)

Note that  $B_n^{(1,1,\cdots,1)} = \frac{(-1)^n}{r!} B_n^{(r)} = \frac{B_n^{(r)}(r)}{r!}$ , where  $B_n^{(r)}(x)$  are the Bernoulli polynomials of order r given by

$$\left(\frac{t}{e^t-1}\right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [9-16]}),$$

and  $B_n^{(r)} = B_n^{(r)}(0)$  are the Bernoulli numbers of order *r*. Recently, Kim-Kim-Kim-Lee-Park introduced the multi-Lah numbers defined by

$$\frac{\operatorname{Li}_{k_1,\cdots,k_r}(1-e^{-t})}{(1-t)^r} = \sum_{n=r}^{\infty} L^{(k_1,k_2,\cdots,k_r)}(n,r) \frac{t^n}{n!}, \quad (\text{see [9]}).$$
(8)

Note that

r\_times

$$(9)$$

where L(n, r) are the unsigned Lah numbers given by

$$\frac{1}{r!} \left(\frac{t}{1-t}\right)^r = \sum_{n=r}^{\infty} L(n,r) \frac{t^n}{n!}, \quad (\text{see } [5,9,18]).$$
(10)

Y. Ma et al also studied the multi-Stirling numbers of the first kind defined by

$$(-1)^{r} \operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(-t) = \sum_{n=r}^{\infty} S^{(k_{1},k_{2},\cdots,k_{r})}(n,r) \frac{t^{n}}{n!}, \quad (\text{see [16]}).$$

$$(11)$$

Note that  $S^{(1, 1, \dots, 1)} = S_1(n, r)$ , where  $S_1(n, r)$  are the Stirling numbers of the first kind given by

$$(x)_n = \sum_{k=0}^n S_1(n,k) x^k, \quad (n \ge 0), \quad (\text{see } [5,13]).$$
 (12)

The unsigned Stirling numbers of the first kind are defined by

$$\langle x \rangle_n = \sum_{k=0}^n {n \brack k} x^k, \quad (n \ge 0), \quad (\text{see } [5, 12]),$$
(13)

where  $\langle x \rangle_0 = 1$ ,  $\langle x \rangle_n = x(x+1)\cdots(x+n-1)$ ,  $(n \ge 1)$ . From (12) and (13), we note that

$$\binom{n}{k} = (-1)^{n-k} S_1(n,k), \quad (n,k \ge 0), \quad (\text{see } [5,12]).$$
 (14)

Now, we recall that the Fubini polynomials of order *r* are given by

$$\left(\frac{1}{1-x(e^t-1)}\right)^r = \sum_{n=0}^{\infty} F_n^{(r)}(x) \frac{t^n}{n!}, \quad \text{(see [13])}.$$
(15)

From (15), we note that

$$\sum_{n=0}^{\infty} F_n^{(r)}(x) \frac{t^n}{n!} = \left(\frac{1}{1-x(e^t-1)}\right)^r = \sum_{k=0}^{\infty} {\binom{r+k-1}{k}} x^k (e^t-1)^k$$
$$= \sum_{k=0}^{\infty} x^k {\binom{r+k-1}{k}} k! \sum_{n=k}^{\infty} {\binom{n}{k}} \frac{t^n}{n!}$$
$$= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n {\binom{r+k-1}{k}} {\binom{n}{k}} k! x^k \right) \frac{t^n}{n!}.$$
(16)

Thus, by (16), we get

$$F_n^{(r)}(x) = \sum_{k=0}^n {\binom{n}{k}} k! \binom{r+k-1}{k} x^k, \quad (\text{see [13]}).$$
(17)

8656

## 2. Multi-Stirling numbers of the second kind

In view of (3), we may consider the multi-Stirling numbers of the second kind defined by

$$\operatorname{Li}_{k_1,k_2,\cdots,k_r}(1-e^{1-e^t}) = \sum_{n=r}^{\infty} \left\{ \binom{n}{k_1,k_2,\cdots,k_r} \right\} \frac{t^n}{n!}.$$
(18)

Now, we observe that

$$\frac{d}{dt}\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r-1},1}(1-e^{1-e^{t}}) = \frac{d}{dt}\sum_{0 < m_{1} < \cdots < m_{r}} \frac{(1-e^{1-e^{t}})^{m_{r}}}{m_{1}^{k_{1}} \cdots m_{r-1}^{k_{r-1}}m_{r}} 
= \sum_{0 < m_{1} < \cdots < m_{r-1}} \frac{1}{m_{1}^{k_{1}} \cdots m_{r-1}^{k_{r-1}}} \frac{e^{t}e^{1-e^{t}}}{1-e^{1-e^{t}}} \sum_{m_{r}=m_{r-1}+1}^{\infty} (1-e^{1-e^{t}})^{m_{r}} 
= e^{t} \sum_{0 < m_{1} < \cdots < m_{r-1}} \frac{(1-e^{1-e^{t}})^{m_{r-1}}}{m_{1}^{k_{1}}m_{2}^{k_{2}} \cdots m_{r-1}^{k_{r-1}}} = e^{t}\operatorname{Li}_{k_{1},\cdots,k_{r-1}}(1-e^{1-e^{t}}).$$
(19)

Thus, by (19), we get

$$\frac{d}{dt}\operatorname{Li}_{1,1}(1-e^{1-e^t}) = e^t\operatorname{Li}_1(1-e^{1-e^t}) = -e^t\log(e^{1-e^t}) = e^t(e^t-1).$$
(20)

From (20), we note that

$$\operatorname{Li}_{1,1}(1-e^{1-e^t}) = \int_0^t \operatorname{Li}_{1,1}(1-e^{1-e^x})dx = \int_0^t e^x(e^x-1)dx = \frac{1}{2!}(e^t-1)^2.$$
(21)

By (19) and (20), we get

$$\operatorname{Li}_{1,1,1}(1-e^{1-e^{t}}) = \int_{0}^{t} e^{x} \operatorname{Li}_{1,1}(1-e^{1-e^{x}}) dx$$
  
=  $\frac{1}{2!} \int_{0}^{t} e^{x} (e^{x}-1)^{2} dx = \frac{1}{3!} (e^{t}-1)^{3}.$  (22)

Continuing this process, we have

$$\operatorname{Li}_{\underbrace{1,1,\cdots,1}_{r-\operatorname{times}}} (1-e^{1-e^t}) = \frac{1}{r!}(e^t-1)^r = \sum_{n=r}^{\infty} {n \choose r} \frac{t^n}{n!}.$$
(23)

Therefore, by (18) and (23), we obtain the following theorem.

**Theorem 2.1.** For  $n, r \ge 0$  with  $n \ge r$ , we have

$$\left\{ \underbrace{n}_{\substack{1,1,\cdots,1\\r-times}} \right\} = \begin{Bmatrix} n\\r \end{Bmatrix}.$$

From (19), we note that

$$\frac{d}{dt} \operatorname{Li}_{k_{1},k_{2},\cdots,k_{r-1},1}(1-e^{1-e^{t}}) = e^{t} \operatorname{Li}_{k_{1},k_{2},\cdots,k_{r-1}}(1-e^{1-e^{t}})$$

$$= \sum_{l=0}^{\infty} \frac{t^{l}}{l!} \sum_{m=r-1}^{\infty} \left\{ m \atop k_{1},k_{2},\cdots,k_{r-1} \right\} \frac{t^{m}}{m!}$$

$$= \sum_{n=r-1}^{\infty} \left( \sum_{m=r-1}^{n} \binom{n}{m} \binom{m}{k_{1},k_{2},\cdots,k_{r-1}} \right\} \frac{t^{n}}{n!}.$$
(24)

On the other hand, by (18), we get

$$\frac{d}{dt} \operatorname{Li}_{k_{1}, \cdots, k_{r-1}, 1}(1 - e^{1 - e^{t}}) = \frac{d}{dt} \sum_{n=r}^{\infty} \left\{ \binom{n}{k_{1}, \cdots, k_{r-1}, 1} \frac{t^{n}}{n!} \right\}$$

$$= \sum_{n=r}^{\infty} \left\{ \binom{n}{k_{1}, \cdots, k_{r-1}, 1} \frac{t^{n-1}}{(n-1)!} \right\}$$

$$= \sum_{n=r-1}^{\infty} \left\{ \binom{n+1}{k_{1}, \cdots, k_{r-1}, 1} \frac{t^{n}}{n!} \right\}$$
(25)

Therefore, by (24) and (25), we obtain the following theorem.

**Theorem 2.2.** For  $n \ge 0$  and  $r \ge 0$  with  $n + 1 \ge r$ , we have

$$\binom{n+1}{k_1,\cdots,k_{r-1},1} = \sum_{m=r-1}^n \binom{n}{m} \binom{m}{k_1,k_2,\cdots,k_{r-1}}.$$

Replacing *t* by  $e^t - 1$  in (7), we get

$$\frac{1}{(1-e^{1-e^{t}})^{r}} \operatorname{Li}_{k_{1},\cdots,k_{r}}(1-e^{1-e^{t}}) = \sum_{m=0}^{\infty} B_{m}^{(k_{1},\cdots,k_{r})} \frac{1}{m!} (e^{t}-1)^{m}$$

$$= \sum_{m=0}^{\infty} B_{m}^{(k_{1},k_{2},\cdots,k_{r})} \sum_{n=m}^{\infty} {n \choose m} \frac{t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} B_{m}^{(k_{1},k_{2},\cdots,k_{r})} {n \choose m}\right) \frac{t^{n}}{n!}.$$
(26)

On the other hand, by (18), we get

$$\frac{1}{(1-e^{1-e^{t}})^{r}}\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{1-e^{t}}) = \sum_{l=0}^{\infty} {\binom{r+l-1}{l}e^{l(1-e^{t})}\sum_{m=r}^{\infty} {\binom{m}{k_{1},\cdots,k_{r}}\frac{t^{m}}{m!}} = \sum_{j=0}^{\infty} {\binom{\sum_{l=0}^{\infty} {\binom{r+l-1}{l}\phi_{j}(-l)}{j!}\frac{t^{j}}{j!}\sum_{m=r}^{\infty} {\binom{m}{k_{1},\cdots,k_{r}}\frac{t^{m}}{m!}} = \sum_{n=r}^{\infty} {\binom{\sum_{j=0}^{n-r}\sum_{l=0}^{\infty} {\binom{r+l-1}{l}\phi_{j}(-l)\binom{n}{j}\binom{n-j}{k_{1},\cdots,k_{r}}} \frac{t^{n}}{n!},$$
(27)

where  $\phi_n(x)$  are Bell polynomials given by

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} \phi_n(x) \frac{t^n}{n!}.$$

Therefore, by (26) and (27), we obtain the following theorem.

**Theorem 2.3.** For  $n, r \ge 0$  with  $n \ge r$ , we have

$$\sum_{m=0}^{n} B_{m}^{(k_{1},k_{2},\cdots,k_{r})} {n \choose m} = \sum_{l=0}^{\infty} \sum_{j=0}^{n-r} {r+l-1 \choose l} \phi_{j}(-l) {n \choose j} {n-j \choose k_{1},k_{2},\cdots,k_{r}}.$$

In addition, for  $0 \le n < r$ , we have

$$\sum_{m=0}^{n} B_{m}^{(k_{1},k_{2},\cdots,k_{r})} \binom{n}{m} = 0.$$

In view of (11) and (14), we may consider the unsigned multi-Stirling numbers of the first kind defined by

$$\operatorname{Li}_{k_1,k_2,\cdots,k_r}(t) = \sum_{n=r}^{\infty} \left[ \frac{n}{k_1,k_2,\cdots,k_r} \right] \frac{t^n}{n!}.$$
(28)

Note that

$$\begin{bmatrix} n\\1,1,\cdots,1\\r-\text{times} \end{bmatrix} = \begin{bmatrix} n\\r \end{bmatrix}, \quad (n,r \ge 0).$$
(29)

By replacing *t* by  $1 - e^{1-e^t}$  in (28), we set

$$\begin{aligned} \operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{1-e^{t}}) &= \sum_{m=r}^{\infty} {m \brack k_{1},k_{2},\cdots,k_{r}} \frac{1}{m!}(1-e^{1-e^{t}})^{m} \\ &= \sum_{m=r}^{\infty} {m \brack k_{1},k_{2},\cdots,k_{r}} (-1)^{m} \sum_{l=m}^{\infty} {l \brack m} \frac{1}{l!}(1-e^{t})^{l} \\ &= \sum_{l=r}^{\infty} {\left(\sum_{m=r}^{l} (-1)^{l-m} {m \brack k_{1},k_{2},\cdots,k_{r}} \right] {l \brack m}} \frac{1}{l!}(e^{t}-1)^{l} \\ &= \sum_{l=r}^{\infty} {\left(\sum_{m=r}^{l} (-1)^{l-m} {m \atop k_{1},k_{2},\cdots,k_{r}} \right] {l \atop m}} \sum_{n=l}^{\infty} {n \brack l} \frac{t^{n}}{n!} \\ &= \sum_{n=r}^{\infty} {\left(\sum_{l=r}^{n} \sum_{m=r}^{l} (-1)^{l-m} {n \brack l} \right] \frac{1}{m!} {m \brack k_{1},k_{2},\cdots,k_{r}} } \end{bmatrix} \\ \end{aligned}$$

Therefore, by (18) and (30), we obtain the following theorem.

**Theorem 2.4.** For  $n, r \in \mathbb{N}$  with  $n \ge r$ , we have

$$\binom{n}{k_1, k_2, \cdots, k_r} = \sum_{l=r}^n \sum_{m=r}^l (-1)^{l-m} \binom{n}{l} \binom{l}{m} \binom{m}{k_1, k_2, \cdots, k_r}.$$

Replacing *t* by  $e^t - 1$  in (8). Then we have

$$\frac{\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{1-e^{t}})}{(2-e^{t})^{r}} = \sum_{k=r}^{\infty} L^{(k_{1},k_{2},\cdots,k_{r})}(k,r)\frac{1}{k!}(e^{t}-1)^{k} 
= \sum_{k=r}^{\infty} L^{(k_{1},k_{2},\cdots,k_{r})}(k,r)\sum_{n=k}^{\infty} {n \atop k} \frac{t^{n}}{n!} 
= \sum_{n=r}^{\infty} \left(\sum_{k=r}^{n} {n \atop k} L^{(k_{1},k_{2},\cdots,k_{r})}(k,r)\right)\frac{t^{n}}{n!}.$$
(31)

On the other hand, by (15), we get

$$\frac{1}{(2-e^t)^r} \operatorname{Li}_{k_1,k_2,\cdots,k_r} (1-e^{1-e^t}) = \sum_{k=r}^{\infty} \left\{ k \atop k_1,k_2,\cdots,k_r \right\} \frac{t^k}{k!} \sum_{l=0}^{\infty} F_l^{(r)}(1) \frac{t^l}{l!} \\ = \sum_{n=r}^{\infty} \left\{ \sum_{k=r}^n \left\{ k \atop k_1,k_2,\cdots,k_r \right\} \binom{n}{k} F_{n-k}^{(r)}(1) \right\} \frac{t^n}{n!}.$$
(32)

Therefore, by (31) and (32), we obtain the following theorem.

**Theorem 2.5.** For  $n, r \in \mathbb{N}$  with  $n \ge r$ , we have

$$\sum_{k=r}^{n} {\binom{n}{k}} L^{(k_1,k_2,\cdots,k_r)}(k,r) = \sum_{k=r}^{n} {\binom{k}{k_1,k_2,\cdots,k_r}} {\binom{n}{k}} F_{n-k}^{(r)}(1).$$

Replacing t by log(1 + t) in (18), we get

$$\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{-t}) = \sum_{m=r}^{\infty} \left\{ m \atop k_{1},k_{2},\cdots,k_{r} \right\} \frac{1}{m!} (\log(1+t))^{m}$$
$$= \sum_{m=r}^{\infty} \left\{ m \atop k_{1},k_{2},\cdots,k_{r} \right\} \sum_{n=m}^{\infty} S_{1}(n,m) \frac{t^{n}}{n!}$$
$$= \sum_{n=r}^{\infty} \left( \sum_{m=r}^{n} \left\{ m \atop k_{1},k_{2},\cdots,k_{r} \right\} S_{1}(n,m) \right) \frac{t^{n}}{n!}.$$
(33)

On the other hand, by (8), we get

$$\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{-t}) = \frac{\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{-t})}{(1-t)^{r}}(1-t)^{r}$$

$$= \sum_{m=r}^{\infty} l^{(k_{1},k_{2},\cdots,k_{r})}(m,r)\frac{t^{m}}{m!}\sum_{l=0}^{\infty} \binom{r}{l}(-1)^{l}t^{l}$$

$$= \sum_{n=r}^{\infty} \left(\sum_{m=r}^{n} \frac{1}{m!} l^{(k_{1},k_{2},\cdots,k_{r})}(m,r)\binom{r}{n-m}(-1)^{n-m}\right)t^{n}.$$
(34)

Therefore, by (33) and (34), we obtain the following theorem.

**Theorem 2.6.** For  $n, r \in \mathbb{N}$  with  $n \ge r$ , we have

$$\sum_{m=r}^{n} {n \\ k_1, k_2, \cdots, k_r} S_1(n, m) = \sum_{m=r}^{n} \frac{n!}{m!} l^{(k_1, k_2, \cdots, k_r)}(m, r) {r \\ (n-m)} (-1)^{n-m}.$$
(35)

Replacing t by log(1 + t) in (18), we get

$$\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{-t}) = \sum_{m=r}^{\infty} \left\{ m \atop k_{1},k_{2},\cdots,k_{r} \right\} \frac{1}{m!} (\log(1+t))^{m}$$
$$= \sum_{n=r}^{\infty} \left\{ m \atop k_{1},k_{2},\cdots,k_{r} \right\} \sum_{n=m}^{\infty} S_{1}(n,m) \frac{t^{n}}{n!}$$
$$= \sum_{n=r}^{\infty} \left( \sum_{m=r}^{n} \left\{ m \atop k_{1},k_{2},\cdots,k_{r} \right\} S_{1}(n,m) \right) \frac{t^{n}}{n!}.$$
(36)

On the other hand, by (7), we get

$$\begin{aligned} \operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{-t}) &= \frac{\operatorname{Li}_{k_{1},k_{2},\cdots,k_{r}}(1-e^{-t})^{r}}{(1-e^{-t})^{r}}(1-e^{-t})^{r} \\ &= \left(\sum_{m=0}^{\infty} B_{m}^{(k_{1},k_{2},\cdots,k_{r})}\frac{t^{m}}{m!}\right)r!(-1)^{r}\frac{1}{r!}(e^{-t}-1)^{r} \\ &= \left(\sum_{m=0}^{\infty} B_{m}^{(k_{1},k_{2},\cdots,k_{r})}\frac{t^{m}}{m!}\right)r!(-1)^{r}\sum_{j=r}^{\infty} \left\{j\atop{r}\right\}(-1)^{j}\frac{t^{j}}{j!} \\ &= \sum_{n=r}^{\infty} \left(\sum_{j=r}^{n} \left\{j\atop{r}\right\}(-1)^{j-r}r!\binom{n}{j}B_{n-j}^{(k_{1},k_{2},\cdots,k_{r})}\right)\frac{t^{n}}{n!}.\end{aligned}$$
(37)

Therefore, by (36) and (37), we obtain the following theorem.

**Theorem 2.7.** For  $n, r \in \mathbb{N}$  with  $n \ge r$ , we have

$$\frac{1}{r!}\sum_{m=r}^{n} {n \\ k_1, k_2, \cdots, k_r} S_1(n,m) = \sum_{j=r}^{n} {j \\ r} (-1)^{j-r} {n \\ j} B_{n-j}^{(k_1,k_2,\cdots,k_r)}.$$

## 3. Conclusion

With the help of the multiple logarithm we introduced the multi-Stirling numbers of the second kind which generalize the Stirling numbers of the second kind. Similarly, the multi-Stirling numbers of the first kind, the multi-Lah numbers and the multi-Bernoulli numbers, which respectively generalize the unsigned Stirling numbers of the first kind, the unsigned Lah numbers and the higher-order Bernoulli numbers, are defined by means of the multiple logarithm. In this paper, we derived several identities involving those four numbers defined by means of multiple logarithm and some other numbers.

The unsigned Lah numbers found their recent applications to the steganography method in telecommunication [6] and the perturbative description of chromatic dispersion in optics [17]. So it would be an interesting research problem to find some applications of the multi-Lah numbers.

As it has been, we would like to continue to find some special numbers and their applications to physics, science and engineering as well as to mathematics.

#### Acknowledgments

All authors thank Jangjeon Institute for Mathematical Science for the support of this research.

## Availability of data and material

Not applicable.

### Ethics approval and consent to participate

All authors declare that there is no ethical problem in the production of this paper.

#### **Competing interests**

All authors declare no conflict of interest.

### Author' Contributions

D.S.K.,T.K. structured and wrote the whole paper. H.K.K. typed the paper and checked for errors.

#### References

- Araci, S. A new class of Bernoulli polynomials attached to polyexponential functions and related identities. Adv. Stud. Contemp. Math. (Kyungshang) 31 (2021), no. 2, 195-204.
- [2] Bayad, A.; Hamahata, Y. Multiple polylogarithms and multi-poly-Bernoulli polynomials. Funct. Approx. Comment. Math. 46 (2012), part 1, 45-61.
- [3] Carlitz, L. Weighted Stirling numbers of the first and second kind. I. Fibonacci Quart. 18 (1980), no. 2, 147-162.
- [4] Choi, J. Y. Multi-restrained Stirling numbers. Ars Combin. 120 (2015), 113-127
- [5] Comtet, L. Advanced combinatorics. The art of finite and infinite expansions. Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht, 1974.
- [6] Ghosal, S. K., Mukhopadhyay, S., Hossain, S., Sarkar, R., Application of Lah transform for security and privacy of data through information hiding in telecommunication, T. on Emerg. Telecommun. T. V.32, 2020, N.2, e3984.
- [7] Jang, L.-C. A note on degenerate type 2 multi-poly-Genocchi polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 4, 539-545.
- [8] Kim, B. M.; Kim, Y.; Park, J,-W. On the reciprocal degenerate Lah-Bell polynomials and numbers. Adv. Stud. Contemp. Math. (Kyungshang) 32 (2022), no. 1, 63-70.
- [9] Kim, D. S.; Kim, H. K.; Kim, T.; Lee, H.; Park, S. Multi-Lah numbers and multi-Stirling numbers of the first kind. Adv. Difference Equ. 2021, Paper No. 411, 9 pp.
- [10] Kim, M.-S.; Kim, T. An explicit formula on the generalized Bernoulli number with order n. Indian J. Pure Appl. Math. 31 (2000), no. 11, 1455-1461.
- [11] Kim, T.; Kim, D. S. A note on degenerate multi-poly-Bernoulli numbers and polynomials. Appl. Anal. Discrete Math. 17 (2023), no. 1, 47–56.
- [12] Kim, T.; Kim, D. S. Some identities on degenerate r-stirling numbers via boson operators. Russ. J. Math. Phys. 29 (2022), no. 4, 508-517.
- [13] Kim, T.; Kim, D. S.; Kim, H. K.; Lee, H. Some properties on degenerate Fubini polynomials. Appl. Math. Sci. Eng. 30 (2022), no. 1, 235-248.
- [14] Kim, T.; Kim, D. S. Combinatorial identities involving degenerate harmonic and hyperharmonic numbers. Adv. in Appl. Math. 148 (2023), Paper No. 102535, 15 p.
- [15] Kim, T.; Kim, D. S. Some identities involving degenerate Stirling numbers associated with several degenerate polynomials and numbers. Russ. J. Math. Phys. 30 (2023), no. 1, 62–75.
- [16] Ma, Y.; Kim, D. S.; Lee, Y.; Park, S.; Kim, T. A study on multi-stirling numbers of the first kind. Fractals, 30 (2022), no. 10, 2240258, 7 pp.
- [17] Popmintchev, D., Wang, S., Zhang, X., Stoev, V., Popmintchev, T., Analytical Lah-Laguerre optical formalism for perturbative chromatic dispersion, Opti. Express V.30, 2022, N.22/24, 40779-40808.
- [18] Roman, S. The umbral calculus. Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984.
- [19] Simsek, Y. Interpolation functions of the Eulerian type polynomials and numbers. Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 2, 301-307.